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QUESTION: 36 
Which of the following is NOT an improvement provided by the backhaul VPLS? 

A. Reducing the number of EVPN on the HV. 
B. Reducing the number of VXLAN tunnels. 
C. Reducing the size of MAC address table. 
D. Reducing the consumption of bandwidth. 

Answer: B 

QUESTION: 37 
Which of the following is NOT a goal of NFV? 

A. Reduce equipment cost 
B. Faster time-to-market for new services 
C. Efficiency through automation 
D. Increase network bandwidth 

Answer: B 

QUESTION: 38 
The ML2 plug-in is part of which OpenStack project? 

A. Neutron 
B. Ironic 
C. Nova 
D. Heat 

Answer: A 



QUESTION: 39 
On which Kubernetes node is the Nuage-kube-mon component installed? 
 
 
A. On the worker node. 
B. On the master node. 
C. On the network node. 
D. On a dedicated gateway node. 
 
 
Answer: A 
 
 
QUESTION: 40 
What statement about policy groups is FALSE? 
 
 
A. Several vPorts ( in the same or different subnets) can be associated with one policy 
group. 
B. One vPort can be associated with multiple policy groups. 
C. For an ingress security policy, if a hardware endpoint policy group is chosen as the 
source, the destination must also be hardware endpoints. 
D. D. The policy group is the syntactic equivalent of the security group used by cloud 
management systems. 
 
 
Answer: A 
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